HO0—XIVR FykLoH—h

ME . ATULR
HO—XIVRADRBZALT FREAMTE . i
R SER
P
T, H P
L D H . 5
| -
-]
. , L D H P
RE *SB | TRE | gawE
+0.5/-0 -0.15 +0.25 +0.3/-0
SS-CE-HA-SM4 M4XO0.7 6.1 0.5~25 16.0 6.0 7.00 0.50
SS-CE-HA-SM5 M5X0.8 7.1 0.5~30 180 7.0 8.00 0.50
SS-CE-HA-SM6 M6X1.0 9.1 0.5~30 21.0 90 10.00 0.50
SS-CE-HA-SMS8 M8X1.25 111 0.5~30 23.5 11.0 12.00 0.50
SS-CE-HA-SM10| M10X1.5 13.1 1.0~3.5 26.5 13.0 14.20 0.80
g8
. , L D H P
RE *SB | TRE | gawE
+0.3 -0.15 +0.5/-0 +0.1
SS-CE-HA-LM4 M4XO0.7 6.1 0.5~25 170 6.0 9.00 1.00
SS-CE-HA-LM5 M5X0.8 7.1 0.5~30 19.0 7.0 10.00 1.00
SS-CE-HA-LM6 M6X1.0 9.1 0.5~30 225 90 12.00 1.50
SS-CE-HA-LM8 M8X1.25 111 0.5~30 250 11.0 14.50 1.50

[\
&> N2F V.7 e

[/
T224-0003 FIETHERAIX P Fd1 —4—6 74 —L AR kL% —E/L 3F
TEL 045-532-6900 FAX 045-532-6909  http://www.avdelook.co.jp




